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MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2008-12
PA - GEN KNOWLE

Date Marks:25x1=25

Multiple choice questions - All questions carry equal marks
.These are to be answered by writing the correct option in your answer sheet

1 National sport/game of India is
a) Cricket b) Hockey c) Football d) Chess
2 Viticulture in Agricul_ture refers to  www.previouspapers.in

a)Worm rearing b) Grape production c) Honey making d)none of these
3 Golden Revolution in Agriculture refers to:
; a)Potato production b) Qil seeds production
c)Fruit production (apple) d) Egg production

4 The first State created in 1953 on the basis of language was
a) Andhra Pradesh b) Kamataka c) Maharashtra d) Assam
5 The number of players on each side of sports-Foot ball is
a) 9b) 12 c) 11 d)7
6 In sextual production of the féHewing plants, the first event involved in this is:
_ a) Fentlization b) Germination c) regeneration d) Pollination
7 Area wise smallest State in India is
a) Sikkim b) Goa c¢) Kerala d) Jharkhand
8 Theory of natural selection was proposed by

a) Charles Darwin b) G.J.Mendell c) Jean Baptise Lamarck d)None of the above
9 The deepest Port of India is

a) Chennai b) Cochin c) Visakhapatnam d) Kanyakumari
10 The Indian citizenship Act was passed in

a)1950 b) 1952 c) 1954 d) 1955
.11 The interpreter and guardian of the Indian Constitution is

a) President b) Prime Minister ¢) Supreme Court d) High Court
12 The largest producer of diamond, Pannais located in

a) U.P. b) M.P. ¢) Gujarat d) Maharashtra
13 The body that framed the Constitution of India was

* a) Members of Assembly b) the Constituent Assembly
c) LokSabha d) RajyaSabha
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The place in India known as “Space City” is
a) Hyderabad b) Trivandrum c) Bangalore d) Mumbai

. The State/Union Territory that sends only one representative to the RajyaSabha is

a) Pondicherry b) Delhi c¢) Goa d) Chandigarh

One term is missing in a number of series °

Choose the correct alternative : 4,6,12,14,28,307

a) 32 b)64 c) 62 d) 60

Cricket Club of India (CCI), classic Billiards and Snooker tournament was won by
a) Rahul Dravid b) PankajUdas c) PankajAdvani d) M.S.Dhoni

Find the number of triangles in the given figure:

a) 16 b) 13 ¢c)9d) 7

Candidates fighting elections can be disqualified if they fail to disclose the assets

information was pronounced by

a) Election Commission b) High Court c) Supreme Court d) none of these
Plastic currency notes are to be launched in the year

a) 2018 b) 2015 c) 2016 d) 2020

Paper currency first statted in India in

a) 1862 b) 1542 c) 1601 d) 1680

Bharat Il is connected with

a) Air pollution b) Water pollution

cjLand pollution d) noise pollution

The status of Election Commissioner is equivalent to that of the

a) High Court Judge b) Supreme Court Judge

c) District judge d) Magistrate

Who discovered circulation of blood in the human body?

a) Edward Jenner b) Joseph Lister c) William Harvey d) JonhanEsabs

"~ The momentum of a massive object at rest is

a) very large b) very small c) zero d) infinity



DEPARTMENT OF POSTS SET-B
MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2009-12
PART-B - MATHS

Date: Marks:25x1=25
Multiple choice questions - All questions carry equal marks
These are to be answered by writing the correct option in your answer sheet
1. The least prime number of 3 digit is
a) 102 b) 101 c) 100 d) 103
Z_. The unit digit in the product of 237x72x28x15 is
a) 6 b) 5 c)jo d)1
3. Convert the following decimal into fractions: 1.23
0.25
ajl23 b) 123 c)12.3 d) 1230
.25 25 25 25
4. The sum of 2 consecutive multiples of a number is 184. What is that number?
a) 8 b) 12 c)11 d) 232
5. If total number of students in a school is 1000, in which 70% are Hindus, 16% are Muslims,
4% are Sikhs and rest are Christians, find the no. of Christians.
a} 150 b} 200 c) 125 d} 100
6. Calculate the following: 25.3+0.32+2.132
a) 277.52 b) 2.7752 ¢} 27.752 d) 2775.2
7. First and second numbers are respectively 20% and 40% of the third number. What
percentage is the first of the second?
a) 40% b) 50% c) 60% d) 30%
8. Pass marks in an exam is 33%. A student who secures 210 marks fails by 21 marks. What is
the maximum mark of the exam?
a) 700 b) 680 c) 720 d) 750
9. If A:B = 4:5, B:C=6:7 find A:C
a) 28:30 b) 20:42 c) 28:42 d) 24:35
10. Rs. 1200/- is divided among Ram, Hari and Gopu in the ratio of 3:4:5. The share that Hari will
getis
a) Rs.300 b) Rs.500 ¢) Rs.400 d) Rs.600
11. What number should be added to each of the four numbers 8, 21, 13, and 31, so that they
become proportional.
a) 5 b) 6 c)8 d)7
12. What is the mean proportional of 16 and 367

a) 22 b) 24 c) 28 d) 18
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A shopkeeper uses 800 gm weight for each 1 kg weight and sells goods at their cost price.
What is the profit percent?

a) 20% b) 30% c) 15% d) 25%

An article is bought for Rs.40/-. For how much should that article be sold so as to gain 25%,

a) Rs.40 b} Rs.55 c) Rs. 50 d) Rs.45

15.

16.

17.

18.

19,

What is the rate of simple interest at which a sum of money doubles itself in 5 years?
a) 3% b) 5% c) 10% d) 20%

Ram deposited a sum of money in a bank which pays 10% simple interest. At the end of 5
years, he received Rs.30,000, then what sum he had deposited in the bank.
a) Rs.20,000 b) Rs.20,500 ) Rs.22,000 d)Rs.21,000

The average of 6 observations is 12. If the 7" observation is included, the average is reduced
by 1. What will be the 7" observation?

a) 5 b)4 c}6 d)3

What rate percent does a man get for his money when discounting a bill due in 10 months, if
he deducts 4% of the amount of the bill.

a) 6% b) 5% c) 3% d) 4.5%

The average age of 7 members of a family is 18 years. If the head of the fami Iy is excluded,

. the average age of the rest of the members would be 5 years less. Find the age of the head of

20.

2k

22,

23.

24,

the family?
a} 50 years b) 48 years c) 42 years d) 46 years

A scooter covers a journey in 9 hour with a speed of 48 km/h. Then how much the speed in
km/hour should be maintained 1o cover the same journey in 8 hours.

a) 54 km/h b) 52km/h c) 58km/h d) 60km/h

Conversion of one square meter in square feet is :
a) 9.5sft b) 10.76 sft c) 9.9 sft d) 10.5 sft

Conversion of 10 meter per second into km per hour
a) 40 km/h b} 32km/h ¢} 36 km/h d) 38 km/h

Conversion of 72 km per hour into meter per second is
a) 30 m/sec b) 20 mfsec c) 15 m/sec d) 40 m [sec

A and B each walks 24 kms. The sum of their speeds is 7 km/hr and the sum of time taken is
14 hours. Find their speeds.

"~ a) 4,3 b) 5,2 t)1,6 d) none of these

25,

The banker’s discount on Rs. 1800 at 5% equal to the true discount on Rs.1830 for the same
time and at the same rate. Find the time.

a} 6 months " b) 12 months ¢) 4 months d) 5 months



DEPARTMENT OF POSTS

SET.B

MTS DIRECT EXAMINATION FOR THE VACANCIES OF 2009-12

PART-C (I) — ENGLISH

Date: Marks: 25x1=25
Multiple choice questions — All questions carry equal marks
These are to be answered by writing the correct option in your answer sheet
1. i just to tell my parents that | was fine
a) Called at b) called in c) called away d) called from
2. They managed to ..............the fire before it spread to the neighbouring buildings.
a) Putin b) put off ¢} put away d} put out
3. We........ gather atthe school at 6 o’ clock
a) Shall b) will c) may d) be
4. Ram was sleeping soundly................. I was working.
a) As b) while c} when d) since
5. lthinkl...........da it
a) will b) shall c) can d) may
6. The Sun................(shine) brightly when | got up this morning.
a2) Shone b} was shining c) has been shining d) would shine
7. My sister........... (come) to visit me next week.
a) Will come b} would come c) has come d) comes
8. He handed over the report which he ...........(wrote)
a) Has written b) wrote c) had written d) would write
8. Choose the synonyms: “caliber”
a) True nature b} first appearance c) ability of a person  d) to say what will
happen in the future
10. You will be in serious trouble.......................you work hard.
al Iif b) unless c) yet d) and
11. ......c.e.he had done his best, he failed.
a) As b) Since c) Though d) While
12. The bird is sitting ............the top ......... the tree.
a) of,on b} on, of c) over, of d) below, of
13.

When he joined Indian Army, he was supplied....................a gun.
al with b) for ¢) by

d) on



14. The thief was sentenced............. five years imprisonment.
a) On b) to c) of d) for
15. We came back ................. year ago.
al a b) the ) an d)none of the above
16. | woke up in ........... middle of the night.
a) a b) an c) the d) none of these
17. I will be back inhalf .............. hour.
a) The bj an c)a d) one

18. Give the antonyms of “Vanish”.
a) Disappear b) appear c) cruel d) bring

19. Give the antonyms of "Alive”
a) Coward b) old ¢} dead d) bold

20. Choose the synonyms. “Glade”
a) Anopenspace b) of high rank ¢} wealthy d) weak

Read the passage carefully and fill in the blanks in the following questions choosing the words
from the passage:

The great advantage of early rising is the good start it gives us in our day’s work. In the early
- morning the mind is fresh and there are few sounds or other distractions so that work done at
that time is generally well done. The early riser also finds time to take some exercise in the
fresh morning air, and this exercise supplies him with a fund of energy that will last until the
evening. By beginning so early he knows that he has plenty of time to do thoroughly all the
work he can be expected to do, and is not tempted to hurry over any part of it.  All his work
being finished in good time he has a long interval of rest in the evening before he goes to bed.

21. Lateriseris ..................to hurry over to finish work.
a) happy b} tempted c) expected d) finished

22. In the early morning there are few ................... so that work can be well done.

a)energy b)time c) freshness  d) distractions

23. Exercise supplies ................. that will last until the evening.
a) time b) energy c) freshness d) distractions

24. Early riser finds time to take some................. in the fresh morning air.
a) exercise b) rest c) quiet d) peace

25. Early riser gets ....oocceveveennns in the evening.

a) fresh b) time c) rest d) energy
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GOVERNMENT OF INDIA-DEPARTMENT OF POSTS
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EXAMINATION FOR FILLING UP OF THE POSTS OF M.T.S (Direct Recruitment from
open market for the vacancies of the years 2009-12)
Part C-II (Regional Language-Telugu)
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DEPARTMENT OF POSTS-INDIA
MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2009-12
ANDHRA PRADESH CIRCLE

PART-A GENERAL KNOWLEDGE

SET-B

Marks: 25 x 1= 25

Multiple Choice Questions-All quesﬁons carry equalrmarksn These are to be answered
by writing the correct option in your answer sheet

01. @ododr ardath $&7?

a) 836 b) ¢ c) D e d) ScGofio
02. "D8sen6 "(Viticulture) @36 SDFaDS Dowodod DD LrdR0s?
a)orddany Dobso | b) ore Dog &dG c) 83 aasrd d) 26 s

03. "worrdy DDB0"(Golden Revolution) ©36 S55rairdS Dowodoed B Ardied?

aJuenrige (worrys | b)  &AFd  Aome |c) Do ed\d | d) §& g &s\d
B0dL) &SNS &G (es0065)
04. &y FIDASTT 1953 & D0 OSdd 2ce o?
a)  wogpd%® |b)  sges ) oy B
05. o5 a5 5° s 2tn &' &0l i s ‘5)0335?
a) 9 b) 12 e m d) 7

06. bs:s&ud‘ (Plants) Sons DADHSNS (Sexual Reproduction) dordoees” 20E8) ©o%o (Event)?

a)

Dedsdno

b)

2weg g [c) ov pBobe [d)  DoE Redde |
(Fertilization) (Germination ) (Regeneration) (Pollination}

07. D7) BRe" Dot Rodors” wd DRy T7ige?
a)bdo b) Fae | c) 2ov d) ergols

08. dira Jods dEroerdy (Theory of Natural Selection) REFGoD06H?
a)a85 wog® b) 2.8 2o2S | c)2S b orarl, | d) 965G
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09. 60 B%0e5" 8 S8 L& B (Deepest Port) D67

a) 33 b) & NS c) JTEPdLNO | d) S50
10. "o ﬂ‘ﬁ"mjs wéo” (Indian Citizenship Act) 9 SERL NG DBLES?
‘| a) 1950 b) 1952 c) 1954 d) 1955
1. 288 Tajorio dlwg), Srjarie (Interpreter) Swda%0 DoBLLHE (Guardian) J5E?
}a) TR0  b) DTR&ed | c) o &8 d) > €6
12, SOt o8 S &dyd 3D "0D) " (Panna) I8¢ God?
a) eacHi® b) QoBiRde c) rhaod d) ooy
13. 68 ooy ErTotodHe?
a) e908) b) DO\ Groeadt Powo | €) &'508 | d) T8
| Pzgen (Constituent Assembly)
14. 268 BgodS" "Ry% " (Space City}rr SETrOoBRED AT
a)  waov=d | b)  3Boko c)  Dofierd d)  awod
15.9 Qo o Bogardd Frodo 28 ws RADAD (representative) TRz Doipdood?
a) a‘odiﬂbé b) d.g} c) R d) Socnb

16. RIYWERD Doaye Fed (series)sS’ 2.8 Ro| S, 2O DD RAFTET) (Dfodod.
3cd =4, 6, 12, 14, 28, 30 ‘

a) 32

b) 64

c) 62

d) 60

17. 886 £65 ud wodos> (CCl), ghé DB, (Classic Billiards) Svbasn % 6 (Snooker)
€575 ooth ety 67

a) oot oé

b) Dogd ah

c) DosE (D

d) do. 2B, S5
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18. Rogudd o s’ 20y Gabhainw 63y S sfdoswn?

a) 16

b) 13

c) 9

d) 7

19. 23 s’ A B wzigHes 35 SO A3 BIHOD LLBoBA?

a) LS 1S | b) FEG ¢) wobo 5 d) 96 5
20. 2§ Sew (Plastic Currency) p3% DLLES P VodSGo?
a) 2018 b) 2015 c) 2016 d) 2020
21. s6dy Stw (Paper Currency )modair & es6ododndos?
[a) 1862 b) 1542 c) 1601 d) 1680 ’

22. wrod-ll (Bharat-11) 822 dHowodedna?

a) oroin SPeuRjo

{Air Paliution )

b) =av

(Water Pollution )

SPedyo i c) &» sewde (Land

Pollution )

d) L Senlyo (Sound

Pollution)

23.

JOLS €203 B0, For 200 Ford parsawn?

)€ Tjabarg

b) 2o §§ rjoiurg

¢) e Frjoibaurd

d) &&gﬁ

24. &3 3860 (Human Body) & 65 070803 (Blood Circulation) gaﬁaﬁ'alﬂ a5 ?

a)acgd E;ﬁlﬁ

b) &0 9226

| ©) DBasvo g

d) &> =5 DRty

25. w8 wrd SRy (Massive

Object) esf (At rest) &) T B3 Srido (Momentum)?

a) e whso

(Very Large)

b} e Ao

(Very Small)

c) g0 (Zero)

d) e®oso (Infinity)

-0)0(o-
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SET-B

DEPARTMENT OF POSTS-INDIA
MTS DIRECT RECRUITMENT EXAMINATION FOR THE VACANCIES OF 2009-12
ANDHRA PRADESH CIRCLE

PART-B MATHS

Date: , Marks: 25x 1= 25
Multiple Choice Questions-All questions carry equal marks. These are to be answered
by writing the correct option in your answer sheet

01. 3 ®oSew ffo Poagwes’ (Number of 3 digit) ed W) DI Doy (Prime Number) D67?
a) 102 b) 101 c) 100 d) 103

02. 237 x 72 x 28 x 15 ciws), vpaw (Product) &* parn Rog Da7?

a) 6 b) 5 c) 0 T T _1
03. & 206 &woe ) (Decimal) D2y orr (Fraction) ardyea? 1.23
0.25
a) 123 b) 123 c)12.3 d) 1230
25 25 25 25

0%. 2.8 ©0S dins), Both HEWW foriomre (Multiples) wdan 184. e Doz DA?
1 a8 b) 12 SR d 232 g

05. a8 968 & &) 1000 o8 Jmjhus’ 70% frotpew, 16% dwdawew, 4% deyw
S0oain ABD Tt $HoHR oS £2003 Rowf Jod?

a) 150 b) 200 c) 125 d) 100

06. 822 ﬂé&am.‘.‘oxp? 25.3 + 0.32 + 2.132

a} 277.52 b) 2.7752 c) 27.752 d) 2775.2

07. Do) B0bey Bocd DoIEY, JPES PopS’ 20% O 40% JEHT D &) D. LS
Dot o(ES’ 2L VoD Jod Tdo?

a) 40% b) 50% o 60% d  30%
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08. &8 DOLS’ afD wboH 33% Arm)w BSVCM. 210 ATy SO us Dargs, 21
e 8 & DOL SLyTED. e DELS” oY A e dowy Joss?

a) 700 b} 680 c) 720 d) 750

09. A:B=4:5, B:C=6:7 es00S A:C=

a) 28:30 b) 20:42 c) 28:42 d) 24:35

10. 1200- 6rdahen 3:4:5 RGeS’ oo, w0 S0baky Ay 26 DHBoSARD, DD 6 Terd
SN f:‘:m& Doy ?

a) doe, 300- b) &>, 500- c) dr. 400- d) g». 600-

11. . B, 21, 13 H6aiw 31 esdd woSew/Dopien WD (Proportional) erbo, & o

oS /Ro[LL’ B3 TFIE D wod W SUDST™?

a)s b) 6 c) 8 d) 7

12. 16 &08oiw 36 dos), AL wioard (Mean Proportional)doed?
a) 22 b) 24 c) 28 d) 18

13. a8 Tprowd, 1 84 whHH-800 TNy AFEy on TE, SO §3) o
VDD €O, DI ¥A) TFD TAAL Jodh?

a) 20% b) 30% c) 15% d) 25%

14, w8 D02 dr. 40- & FRLH6. 25% 0rgiam Totwh, & 900 Jodsh ©x0) 5557
2)40 b) 55 c) 50 | d) 45

15. 9 Fard) a6 e &, Seo T 06 (5) vodadawes” 58etromn?

a) 3% b) 5% c) 10% . d) 20%

16. 10% ardy 5 vy 28 wrjed &', oo Food Tawo) AaS BHTD. 5 Do BA00 oS
©30 30000 Graraben Josds', w8 wrjel & AFats 3 Tdw) dod?

a) do 20,000~ b} ¢ 20,500- c) &» 22,000 d) gr 21,000
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17. 6 Ho2wdw (Observations) alos), DAL (RO7R0) 12. 7 & DBIwD (Observation) SOBHS ritw
(H020) SaHio (1) Sridao. wowss 7 S 6% (Observation) dos?

a) 5 b) 4 c)6 d) 3

18. 10 Jov® ers &) 83 Den g, TS’ 4 % SoEH S w8 B8 83 FALH Jod
T Tooin?

3) 6% b) 5% c) 3% d) 4.5%

19, Déd (7) RIEDDY W8 DEVOoLED uﬁnsb 2ritn (Hoea) Sobio 18 RodSGav. v

DR DIV oD, WABD HEfL DNE), WD (HTRHE) S0HWO 5 VeSSYEINVD SO,
a0 SHEnor) DG oS SRR AW,

3) 50 2e33y630e0 | b) 48 RosdyGaNes | C) 42 Podeydames | d) 46 Rodeydane

20. fiotash 48 &' Doirg Deidwd s o Fod ardiand 9 dobwd’ pairdeidy. of
Broa0R0 8 fobus’ DOIrtoddTDY, AL Jod Dridd’ pairelodsTin?

3) fiots 54 3.5, | b) Mok 52 8. D | €) Aok 58 &, . | d) Moo 60 &, B,
21. 8 SO0 Dm0 Bty werues's Ar8 S, 06 Jodh DITHIN?

a) 9.5 t.e, b) 10.76 . e. c) 9.9 5. e, d) 10.5 3. e.
22, BEH 10 Dt o S5°0owgs's arsyos'=
| a) dotos> 40 3.5, | b) dotay 32 3.5, | ¢) Aokrs 36 &.5. d) fots 38 &, B,

23. fiotah 72 36" Dotrg Drinso- BSRLH Dotog '8 6> Brtzw=
a) HIRD 30 Db | b) PEMD 20 Do | €) DD 15 D | d) DS 40 :mg:.'_}

24. A 2ooakn B 50 @S 24 36" D HADTH. T6 DB @), DS fob 7 $S b
20005 SRODHIY PRV V), DS 14 fobew. S T6 Bswes Jos?

a) 4,3 bl 52 c) 1,6 d) 24 s

25. 6> 1800~ p 5% T30 erjosd mns), oy (Discount) , 08 srodw(Time) 4% wé 365 & or
1830- » D& Sfoy (True Discount) & RATFHRS, sudw (Time) Jod?

a) 6 duen b) 12 Deen C) 4 doe d) 5 duewn

-0)0(o-




